sam2*CurMon:Entry$ sam2*CurMon {ErrorFlag==0} asym_sam2/ppm:pattern_number {ErrorFlag==0) asym_sam?2

c B N = Entries 45729
§ 06f ; evtiree T H ; -
E‘r : 16000 | 20000 :_ }}i $ HOH K }{ * 200 N Mean 23.79
N - Entries 366612 LT T TET X T XX X X X :
5 - 15000fF| [ | [+ T | i
! 14000F °000¢ - . 190 _ Std Dev 1712
- Mean 0.4385 i -
12000 — 10000 - l Underflow 1.451e+04
e : Std Dev  0.02115 s000} 180 _
- - ev 0. N - _ | .
_ 10000 — ' - _ 1 ].I Overflow  1.46e+04
0.3 i 0 BrRAEAAFEEHEEEERR S AR EE AR HE R R A HAE 1701 | [ - L I
- 8000[ : - - U :
- i 5000 ]| ok l
0.2 6000 — ; I
- i 10000 - N i |
- 4000 5 L 150 [ l
0.1~ i 15000 + L L4 11 -
: 2000 Cx X }{}{}{}{}{}{}{i}{ xL . |
- | _ - 20000 x x 1401~
II|IIII|II|IIII|IIII|IIII|III |||||||||H'|ﬂ Dlll | | II| _IIII|IIII|IIII|IIII|IIII|IIII _IIII|IIII|IIII|IIII|IIII|IIII
0 50 100 150 200 250 300 350 400 450 0.35 0.4 0.45 0.5 0.55 0 10000 20000 30000 40000 50000 60000 -3000 -2000 -1000 0 1000 2000 3000
Entry$ sam2*CurMon pattern_number ppm

run4397 000 sam2.png



sam4*CurMon
- o3 oo

—
ro

0.8

0.6

0.4

0.2

0

0

sam4*CurMon:Entry$

o
e %l
L
l |IIII|II|IIII|IIII|IIII|III

150 200 250 300 350
run4397 000 sam4.png

=} a1 21
g8 - | o, |
- [N

400 450
Entry$

16000

14000

12000

10000

8000

6000

4000

2000

sam4*CurMon {ErrorFlag==0}

evilree

Entries 366612

Mean 1.386

Std Dev  0.04348

"
ho [

1.4 1.45

15 155 16 165
sam4*CurMon

asym_sam4/ppm:pattern_number {ErrorFlag==0}

20000
B #

15000 ok x T g ok E
10000} _

5000 [

DéEESESEE3333;5ESSESEEEEEEE:EEEEEEEEEE

~5000 [
10000 {- _
15000 — % s e
. :IIII|IIII|IIII|IIII|IIII|IIII
20000530000 20000 30000 40000 50000 60000

pattern_number

asym_sam4

n Entries 45729
250

- Mean 4.403
240

E Std Dev 1711
230

B Underflow 1.272e+04
220

- Overflow 1.291e+04
210 | 1 I
200

ﬂ I
190F- Jﬂrdﬂ
180
170

:I | I .| | | 1 _I | | | I | | | I | | I | L 11 1
—3000 2000 —1000 2000 3000

ppm




sam6*CurMon:Entry$

sam6*CurMon
-
hn

0.4

0.3

0.2

0.1

& |

11| | | | -
N I I I I

0

50 100

150 200 250 300 350

run4397 000 sam6.png

el 1| I | ] ] ]|

400 450

Entry$

x10°

22000

20000

18000

16000

14000

12000

10000

8000

6000

4000

2000

sam6*CurMon {ErrorFlag==0}

evilree
Entries 366612
Mean 0.4625

Std Dev  0.01012

044 0.46 0.48

0.5

052 054

sam6*CurMon

8000

6000

4000

2000

-2000

-4000

-6000

-8000

asym_sam6/ppm:pattern_number {ErrorFlag==0}

1 1
== T[T

| O L

1

i
[l

[
']
(K]
L[
iy
(1]
(W]
K
Ll
(W]
1]
[}
(W]
L3
']
(1]
1]
[l
i
i ]
i
[
i
i ]
i3
[l 1]
]
i3
I
[l
i ]
I}
[
i3

% T xx o x gL 17T
- o e s

0

10000 20000 30000 40000

50000 60000
pattern_number

asym_same6
500 :_ Entries 45729
B J Mean -2.85
450~ Std Dev 1578
400 ] Underflow 3718
B Overflow 3757
350
300
25017
200 -
_I | I | | | I I | | L1 1 1 | | I O | | L1 1 1 | | I I |
3000 -2000 —1000 0 1000 2000 3000
ppm




sam8*CurMon:Entry$

o
n
|

sam8*CurMon

=
o~

0.3

0.2

0.1

- | |
y L 111

T
11| | | | -
[ 1 N I I I I

0 50 100 150 200 250 300 35C
run4397 000 sam8.png

e H o
] =
1 | L | | L1 1

400 450
Entry$

x10°

sam8*CurMon {ErrorFlag==0}

14000
i Entries 366612
12000
- Mean 0.457
10000
i Std Dev 0.005634
8000 —
6000 —
4000—
2000
B | | I | I | ] | |

| L
46 0.4

7 0.48
sam8*CurMon

6000

4000

2000

-2000

-4000

-6000

asym_sam8/ppm:pattern_number {ErrorFlag==0}

B *
- s
. X XX )X XX
i e ¥ W x
B >< :x )
I 1 1 1 | 1 1 1 1 | l 1 1 1 | I I | I 1 1 1 | 1 1 1 1
0 10000 20000 30000 40000 50000 60000

pattern_number

asym_sam8

n Entries 45729
600 B Mean -3.679
B Std Dev 1445
>001 Underflow 1421
i Overflow 1326
400— 0
300
200
I | | | I | | | I I | | I I | | I | | I |
—3000 2000 —1000 0 1000 2000 3000
ppm




Urniviun

sdAllll

sam1*CurMon:Entry$

0.25—
0.2—
0.15-
I S 1
n 1 B 'E::E =Y |oE
0.05—
:LlllllllII|IIII|IIII|IIII|III JJ I|III
0 50 100 150 200 250 300 350 400 450
Entry$

run4397 000 sam1l.png

x10°

25000

20000

15000

10000

5000

D

sam1*CurMon {ErrorFlag==0}

- evtlree
I Entries 366612
Mean 0.2266

Std Dev  0.002825

205 0.21

0.215 022 0.225 023 0235 0.24
sam1*CurMon

asym_sam1/ppm:pattern_number {ErrorFlag==0}

2000
- . y
1500  “Muw C 0w w x % g
iSbococine abe % o o 357y
1o00fH |_[7[[1 T T T3
500[-
A
500+
=toooff| [ L[| AL L] |%|
%ék K% gé%x§xx§x§xigﬁﬁ %HM %ﬁignéxx g
B0 XXX e TR SRR
B b
_| I 1 1 | 1 1 1 1 | l 1 1 1 | I I | I 1 1 1 | 1 1 1 1
EDDDD 10000 20000 30000 40000 50000 60000

pattern_number

asym_sam1
i Entries 45729
2500 — Mean —-6.169
I Std Dev 416.8
2000 | Underflow 0
i Overflow 0
1500 —
1000
500
i | I | | 1 | | I I | | I O | | L1 | | I |
—d’nﬂ[][] 2000 —-1000 0 1000 2000 3000
ppm




sam3*CurMon:Entry$ sam3*CurMon {ErrorFlag==0} asym_sam3/ppm:pattern_number {ErrorFlag==0} asym_sama3

c B Entries 45729
s 2 : evilree 30000|~ ) T |
3 14000~ s we e R 150 Mean -4.939
5 - Entries 366612 LT TIl. T TTT_ITTTIT TTT___°7 o B
E 12000 = 20000 17 i ] i - Std Dev 1730
L7p - a
1. _ Mean 1.467 | 140—
- . B Underflow 1.688e+04
10000{— 10000+ :
i Std Dev  0.08309 L (a0l h | Overflow 1.698e+04
Bﬂﬂﬂ_— ;nﬂn--.--."‘n--u ™1 |~ - L L L L b b=t = N e L] B J \‘
. 0 B AH AR AR AR REEER AR RRAHRRARRARERTRRE - 1
- l I I | ]J I
6000/ T 120 jl L |
i 10000 [ i J _ [
4000 : - |
0.5 A - 1 } 107 ]] ' k w
i 2000(- o T — ! |
u — s s B
- N . il - - 100
I::I_rlllllll|||||||||||||||||||II|||||||||'.:"":‘II:|3 D_II | III|II||||||||IIII|IIII IL|||| BDDDD_I||||||||||||||||II|I|||||||| _|||||||||||||||||||||||||||||
0 50 100 150 200 250 300 350 400 450 1.1 1.2 1.3 1.4 1.5 1.6 1.7 1.8 0 10000 20000 30000 40000 50000 60000 -3000 -2000 1000 0 1000 2000 3000
Entry$ sam3*CurMon pattern_number ppm

run4397 000 sam3.png



0.4

sam5*CurMon:Entry$

sdlllid Lurviun
-
L
o

0.25

0.2

0.15

0.1

0.05

()

L ]
25 0%
2 ¥
E
| L 111 |

[~
II|IIII|IIII|IIII|III

0

50

10C

150 200 250 300 350

run4397 000 sam5.png

. o ) e}
! ] e&]
' [ 1 | | B | | [ 11

400 450
Entry$

x10°

35000

30000

25000

20000

15000

10000

5000

sam5*CurMon {ErrorFlag==0}

| T BT S DS N R A

evilree

Entries 366612

Mean 0.3272

Std Dev  0.003867

|
33 0.34

0.35

0.36
samb5*CurMon

asym_sam5/ppm:pattern_number {ErrorFlag==0}

2500
- x X
2000
E}{}{}{}{ig HUE § :}{}‘12 HUE gi g}{gg}{}{g g e ;
1800f 7% 17X, sk pErr ST 18 o
1DDD§—
500[|
A
500 [
-1000 g—
1500 o LA s B g
E}{ A }{}{}{i}{}{ }{}{ . § L
2000 s x x
:| L 1 1 | I I | I I | I I | I T | | I I
0 10000 20000 30000 40000 50000 60000

pattern_number

asym_sam>
- Entries 45729
2000 :_ Mean 6.946
1800
. Std Dev  528.3
1600
- Underflow 0
1400
- Overflow 0
1200
1000
800
600
400
200
:IIII|III|IIII|IIII|II |IIII
$bo0 2000 -1000 0 1000 2000 3000
ppm




sam7*CurMon:Entry$

sam7*CurMon

0 50 100 150 200 250 300
run4397 000 sam7.png

L E 3
:

L~
d L~
= =5 ] #
-.t | & | | | | .
[ N I I I I

0 400 450

Entry$

x10°

14000

12000

10000

8000

6000

4000

2000

sam7*CurMon {ErrorFlag==0}

evtlree
Entries 366612
Mean 1.005

Std Dev

0.0127

l
1.04

l
1.06

sam7 *CurMon

6000

4000+

2000

-2000

-4000

-6000

asym_sam7/ppm:pattern_number {ErrorFlag==0}

[T x x X%
B - X T T % T T . .
égz:;355;33333E:EQEEEEEEEE:EEEEEEEE:E
-4 4 L1 4 L __};: [ N T R A N s B I A 4 1. 1L A £ A
- X X X b L
K X X X X X X
B X
I T | | I I | I I | I I | I T | | I I
0 10000 20000 30000 40000 50000 60000

pattern_number

i Entries 45729
EDEI_— Mean —4.767
i Std Dev
5““__ Underflow
B | Overflow
400
300—
200—
:I | I .| | L 11 1 | | I | | | I | | I | L 11 1
-3000 -2000 -1000 0 1000 2000 3000
ppm

asym_sam?/




yield_sam2:pattern_number {ErrorFlag==0}

0.0075

0.007: |

0.0065 i i

0.0055 -}

0.005

10000 20000 30000 40000 50000 60000
pattern_number

run4397 000 pairTree sam2.png

9000

8000

7000

6000

5000

4000

3000

2000

1000

yield_samz2 {ErrorFlag==0}

htemp

Entries 183148

Mean 0.006258

Std Dev  0.0002524

oL

o 1)

.00

.Lrl_

0.0055

0.006

0.0065

0.007 0.0075
yield_sam?2

na l_'l...l'l_rl.l oo Ry FFI ra

L p

100

80

60

-80

-100

asym_sam2/ppm:pattern_number {ErrorFlag==0}

*
=
L

[T T 7]
W
1
I
I

e

| =
I
1
1
1
1
1
]
]
]
]

L7
LLd
LLd
[N
1]
1]
[
L1
LLd
[}
W1
i
[l
[
i
i
i
[l
i3
(]
i ]
i
i
[l
[l
(]
i
i[5

s x L X x4

0

10000 20000 30000 40000 50000 60000
pattern_number

5000

4000

3000

2000

1000

asym_sam2/ppm {ErrorFlag==0}

PairTree

Entries 183148

Mean 27.44

Std Dev  2.631e+04

11 | [ 11 | [ 11 | 11 | [ 11 | l | 11 :":‘IDS
0 20 0 20 40 60 80 100
asym_sam2/ppm

|
0

-
=i
-



yield_samd:pattern_number {ErrorFlag==0}

0.023
0.022

0.018!

10000 20000 30000 40000 50000 60000
pattern_number

run4397 000 pairTree sam4.png

9000

8000

7000

6000

5000

4000

3000

2000

1000

yield_sam4 {ErrorFlag==0}

htemp

Entries 183148

Mean 0.01978

Std Dev  0.0005075

0.022  0.023
yield_sam4

60000

40000

20000

20000

40000

60000

asym_samd/ppm:pattern_number {ErrorFlag==0}

kY
b

| W
1
|
| W
| =

| W0

|

el

xl |1

XK

o L]+L o

. s -+ # o

o
I
I
|
et
R

T | 1 ;(é(}ﬂ: —I i - )y I B i —— | T 1 | T
T I Iﬁl | R
} { [} | |
{ (1] ] |
I T 1
W 1]
[
(K]
1]
(W1
(K
(K]
(1]
(K]
[1}]
(W 1]
(K
(K]
1]
i
[
i3
[i ]
i
[i ]
L1
i
i
i
i
|
i3

0 10000 20000 30000 40000 50000 60000

pattern_number

5000

4000

3000

2000

1000

asym_sam4/ppm {ErrorFlag==0}

PairTree

Entries 183148

Mean 30.83

Std Dev  1.814e+04

|_II

-60

|
0

00 -40000-20000

0

20000 40000 60000

asym_samd/ppm



yield_samé6:pattern_number {ErrorFlag==0}

0.0074

0.0072

0.007

0.0068

"—-'-'—"-I-II|III|III|II

0.0064
0.0062

0.006

10000 20000 30000 40000

50000 60000

pattern_number

run4397 000 pairTree sam6.png

10000

8000

6000

4000

2000

yield_sam6 {ErrorFlag==0}

htemp

Entries 183148

0.0066

Mean

Std Dev 0.0001243

o

D_

.00620.00640.00660.0068 0.007 0.00720.0074

yield_sam6

30000

20000

10000

10000

20000

30000

40000

asym_samb/ppm:pattern_number {ErrorFlag==0}

L O L 1 ™
(K]
(1]
1k
hld

T T 11
| H !

LIy
K

[}

(1]
(K]
(1]
Ly
K

(K

(K]
[}

(i1

(K]
i ]

i
[l
(K]
[l ]
[l 1]
[l 1]
i
[l
[l ]
(K]
[l ]
[lli]
[l i]
i

(Wi
(K
(1]

[}

L L L L i S O e I _‘_‘_\;{ -4

o -

0

10000 20000 30000 40000 50000 60000

pattern_number

asym_samé6/ppm {ErrorFlag==0}

5000 — PairTree
i Entries 183148
4000+
- Mean —1.797
B Std Dev  1.06e+04
3000
2000 —
1000+
_l I | L 11 | | I I | | I I | L1 11 | L1 11 | L 11 L1 11
_$0000-30000-20000-10000 0 10000 20000 30000

asym_sam6/ppm



yield_sam8:pattern_number {ErrorFlag==0} yi eld sam8 { EI'FDI'F|3.Q ==0} asym_sam8/ppm:pattern_number {ErrorFlag==0} asym_sam8/ppm {ErrorFlag==0}

- : htemp : ; PairTree
0.0068 . - — P HORK
i | o 8000 EDDDD_—}{:K T - TR X X ) B
IS o - Entries 183148 L L TTH T TTT & X577 5000~ Entries 183148
0.0067 ff-| ' 7000 - 15000 | 7 sk I
: - o T I
: Mean 0.006522 10000 240001 Mean -11.69
0.0066 6000~ : -
- Std Dev 6.582e—05 5000 - i i Std Dev 6338
5000 ! i
0.0065 B 0 BeEgeHHE eHEeEEHEHEE H - E EEEEH SHEEHAE 3000
4000 - i
- -5000 - 1 i
D.DDE-‘-L!: 3000 ! 2000
e - - 10000 - I
0.0063— | 2000 - S L 1 I
! ' : 15000 e L] ﬁ |yl 1 1000
B : — - L x|+ Liil L Lo 1w 4 _
0.0062— j 10007 20000 - - X x o sxax x4 X i
_IIII|IIII|IIII|IIII|IIII|IIII D_Illlll II|I | | II|II :IIII|IIII|IIII|IIII|IIII|IIII D_IIL I|IIII|IIII|IIII|IIII|IIII|IIII|I |_I_III
10000 20000 30000 40000 50000 60000 0.0062 0.0063 0.0064 0.0065 0.0066 0.0067 0.0068 0 10000 20000 30000 40000 50000 60000 —2000015000100085000 0 500010000t 5000005000
pattern_number yield_sam8 pattern_number asym_sam8/ppm

run4397 000 pairTree sam8.png



0.0034

00335

0.0033

003255,

0.0032

00315

0.0031

00305

0.003

00295

0.0029

yield_sam1:pattern_number {ErrorFlag==0}

.|IIII|IIII|IIII

10000 20000 30000 40000 50000 60000
pattern_number

run4397 000 pairTree sam1.png

14000
12000
10000
8000
6000
4000

2000

0.0

yield_sam1 {ErrorFlag==0}

_I—I—I_LII_I--I--III—I-.J_I

htemp

Entries 183148
Mean 0.003234

Std Dev 3.798e—05

0Z200296.006.0030R 0081003 Th00IL003ZL00XB003X00034

yield_sam1

6000 —-

4000

2000

-2000

-4000

-6000

0 10000

asym_sam1/ppm:pattern_number {ErrorFlag==0}

1
1
1
1
b
]
|
{
]
]
-4

(4]
[iN]
1]
Ly
(1]
[}
[}
(K]
4}
LI
(K]
(K]
1]
(K]
Ly
1K
(K]
(K]
[
(K]
i ]
[l 1]
i
i
[l i]
(K]
[l

| L L I

: W) :
: ] :
: i }
: T }
: T :
: T :
b/ — W

W

1
1
1
e |

I
O
1

20000 30000 40000 50000 60000
pattern_number

4000

3500

3000

2500

2000

1500

1000

500

asym_sam1/ppm {ErrorFlag==0}

PairTree
Entries 183148
Mean -5.92

Std Dev 2216

-6000 -4000 -2000

0

2000 4000 6000

asym_sam1/ppm



yield_sam3:pattern_number {ErrorFlag==0} yi eld sam3 { EI'FDI'F|3.Q ==0} asym_sam3/ppm:pattern_number {ErrorFlag==0} asym_sam3/ppm {ErrorFlag==0}

10°
0.026 h : a :
| 8000 tem p L] ) - PairTree
UDES | B : __ ~ - - - - # SN T o i_-}{}{}{ B
o ' 7000 Entries 183148 ; 1001 STETTTTITT T T XIXTT T 5000~ Entries 183148
0.024F- | I K[| x |. I
R TN 6000 Mean 0.02094 y 1 . Mean 29.81
0.0230H [ §)it: B 50 1 4000+
1 SR 5000 : - |
0.022 814 § E Std Dev  0.000945 : _ : Std Dev  3.455e+04
& - O A A A A A A R T 3000 —
DUE‘I 40“0__ D_ n:::-::;;._.-:;;;;u:;u::u:u:u:ch:h:unu |
0.02f 3000 | 2000
t R ¢ - S50 i
0.019f 4 ~ i 2000 i - _ -
i M 1 LIl ~ 1000
0.018 B || i
4 1000 TR Y arall A sl A B N N B Rl el M M 1 i
B | ox L 1% o i
0.017F - n : i .
—IIII|IIII|IIII|IIII|IIII|IIII D_IIIII III|IIII|IIII|IIII|IIII|II III|IIII| IIII|IIII|IIII|IIII|IIII|IIII D |1 III|IIII|IIII|III |III:":‘|D
10000 20000 30000 40000 50000 60000 0.0170.0180.019 0.02 0.0210.0220.0230.0240.0250.026 0 10000 20000 30000 40000 50000 60000 -100 -50 0 50 100
pattern_number yield_sam3 pattern_number asym_sam3/ppm

run4397 000 pairTree sam3.png



yield_sam5:pattern_number {ErrorFlag==0} yi eld sam5 { EI'FDI'F|3.Q ==0} asym_sam5/ppm:pattern_number {ErrorFlag==0} asym_sam5/ppm {ErrorFlag==0}

0.0052 : h = :
: 18000 tem P 5000F 4500 PairTree
- - - o T _
0.0051— 16000 — Entries 183148 : T.T T-Tw —- 4000 - Entries 183148
il - 6000 FTT| - _ S TT-- C
: 14000 AERRE ] ] T . 3500
0.005— ~ Mean 0.004669 4000 s T }i }{ B Mean 6.676
} i - | s N
Z 12000— i I | 3000 —
0.0049|— B Std Dev 5.267e-05 2000 Ht |4 1] L L] ) Std Dev 2510
- 10000 - H 2500
- - 0 BEECEEHEEEEEEEEEEERE R BRRREEREEEREEE -
0.0048— 8000 - H 2000 —
" - —2000 H [H]|T ik AL -
0.0047 6000 — R i 1500
[ i » -
[ —4000 - i - 1000 _
0.0046" 40001 1] ]% L1EL] . x -
- - 6000 L | L L)L L L N
- 2000~ R N - 500 —
0.0045— - - - _
_IIII|IIII|IIII|IIII|IIII|IIII D_Illlllllllllll |_I_-l-_L..-I---I.|J_!'|IIII _BDDD_IIII|IIII|IIII|IIII|IIII|IIII Dl_lll III|III|III|III|III|III II|I
10000 20000 30000 40000 50000 60000 0.0045 0.0046 0.0047 0.0048 0.0049 0.005 0.00510.0052 0 10000 20000 30000 40000 50000 60000 —8000-6000-4000-2000 0 2000 4000 6000 8000
pattern_number yield_sam5 pattern_number asym_sam>s/ppm

run4397 000 pairTree sam5.png



yield_sam7:pattern_number {ErrorFlag==0} yi eld sam7 { EI'FDI'F|3.Q ==0} asym_sam7/ppm:pattern_number {ErrorFlag==0} asym_sam7/ppm {ErrorFlag==0}

8000 htemp I o I PairTree
0.015 N - T o a
n _ 20000 = | > | t77TT T X T T T 5000 _
7000 — Entries 183148 - T i i T == - Entries 183148
0.0148 - N T i
) i 4 6000 — Mean 0.01434 ‘IDDDD:— 40000 Mean —7.154
0.0146f7 . lhi.x B3l : - 1 -
o R B 5000 — Std Dev 0.000143 | : StdDev 7014
DD'|44 E []_ SEEEEE S EEE A REEHEEE BEREEERRRRREEERAE 3000
4000 - I
0.0142 nnnz : I
] - 10000 H+ 20001~
0.014 2000 :_ :—“ N -
R _ - N B . 1000—
0.0138—: 1000~ 20000 ey At toh et A WEes Bl R i
' B I * u
DD-IBEIIII|IIII|IIII|IIII|IIII|IIII :I|||II|III|III|III|II II|II _IIII|IIII|IIII|IIII|IIII|IIII D_II III|IIII|IIII|IIIIIII
' 10000 20000 30000 40000 50000 60000 D.B1BE 0.0138 0.014 0.01420.01440.01460.0148 0.015 0 10000 20000 30000 40000 50000 60000 —20000 -10000 0 10000 20000
pattern_number yield_sam/ pattern_number asym_sam?y/ppm

run4397 000 pairTree sam7.png



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

rund397 000 asym sam2468 “mutual correlation-CO

as

as

as

= — = — —
0.02F 0.02F —|80c 002w —145¢
- —30¢ - -
0.015F 0.015F —{70c 0.015F —[40t
0.01F —25¢ 0.01F _lanc 0.01F 3L
3 3 - —30(
0.005F oo 0.005F oo 0.005F
ob ob ob 25(
- - 40( :
0.005F ~0.005F ~0.005F 20
n n 30( n
—0.01E ~0.01E —0.01E 150
[ [ a0 [
0.015F _0.016F _0.016F 100
- - 10( -
—0.02F 002 = —0.02F >0
:III||||||||||||||||||II|IIII|IIII||||||||II|III :IllllllIIIII|||||||||||||||IIIIIIIIIIII :I||||||||||||||||II|III|III|III|
—0.02.0.015-0.0+0.005 0 0.005 0.01 0.015 0.02 ~0.02 -0.015 -0.01-0.005 0 0.005 0.01 0.015 0.02 —0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008
asym_samz2 asym_samd asym_samé
AN w4 asS
- —8oc . o :
0.015- 0.015 _|30¢ 0.015 -0t
- —70( - -
0.01 0.01 0.01
C o - —{25¢( - —40(
0.005- 0.005F- 0.005F-
- —50( N —20( :
- - N 300
O O O
- N 15( N
-0.005 |~ -0.005~ -0.005 200
- - 10( -
~0.01F ~0.01F ~0.01F
- - - 10¢
0.015F 0.015F 50 0.015F
o - n - O
__DLGE_Illlllll|||||||||||||||||||||||II|IIII|IIII|III _,Dlln_|||||||IIIII|||||||||||||||IIIIIIIIIIII —'D.. _I||||||||II|III|III||||||||||II|
—0.02.0.015-0.0+0.005 0 0.005 0.01 0.015 0.02 98,02 -0.015 0.01-0.006 0 0005 001 0015 002 %008-0.006-0.0040.002 0 0.002 0.004 0.006 0.008
asym_sam2 asym_samd asym_samé
e N asgmLsam4 s
0.008 — 0.008 — 0.008 —
B —45( B - —30(
X X —50( X
0.006|- _aoc 0.008[- 0.0086[-
B B B —25(
o n C n o
0.004f 35¢ 0.004f aoc 0.004f
0.002]— —30¢ 0.002)— 0.002)— 20
o 0 o 15(
0.002F -0.002F -0.002F
i i i 10(
0.004 ~0.004F ~0.004F
i i i 50(
0.006 - ~0.006[ ~0.006[-
_ g _ . _
_,Dlﬂﬂa_lll|||||||||||||II|IIII|IIII||||||||II|IIII|III _Dlﬂﬂ_|||||IIIIIII||||||||||II||IIIIIIIIIIIII _DLGE_Illll||||||||||||II|III|III|III|
—0.02.0.015-0.0+-0.005 0 0.005 0.01 0.015 0.02 98,02 -0.015 0.01-0005 0 0005 001 0015 002 X P008-0.006-0.0040.002 0 0.002 0.004 0.006 0.008
asym_samz2 asym_samd asym_samb6
s asgmLsam4 s
i — —80r i — B I—
0.006- g 0.006- g 0.006
i i 12 i o
I —{70( I I
0.004 0.004 0.004
i . _ —10¢ _ —40(
0.002 - 0.002 0.002
- - —80( -
i i i 30
0 40( o 0=
- - 60( -
- 30 - -
0.002 _0.002 _0.002 20¢
i 20( i i
0.004 - ~0.004|- ~0.004|- 10(
| 10¢ | |
i i - i
_Dlﬂﬂs_lll|||||||||||||II|IIII|IIII||||||||II|IIII|III _Dlﬂﬂs_lllllIIIIIII||||||||||II||IIIIIIIIIIIII _Dlﬂﬂs_lllll||||||||||||II|III|III|III|

0

6-0.004-0.002 0 0.002 0.004 0.006 0.008

i . p n g asym_samé

Iﬁf

as

0.02

— —B0[

—70(
0.015

—&0C
0.01

—50(

0.005

0

-0.005

-0.01

-0.015

-0.02 n

-0.006 -0.004 -0.002 O 0.002 0.004 0.006
asym_sam8g

as

0.015 —12C

0.01 o

0.005
—80(

-0.005

-0.01

-0.015
|

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—'D..GE | 11 1 | 1 1 1 | 1 1 1 | 11 1 | 11 1 | 11 1 I ]
—0.006 -0.004 -0.002 0 0.002 0.004 0.006

asym_sam8

as

0.008

50(C

I
0.006
0.004 g " _lao¢

0.002
-0.002

_D.ﬂﬂa | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 I | |_D

-0.004

-0.006
-0.006 -0.004 -0.002 O 0.002 0.004 0.008
asym_sam8g

_—
III|III|III|III|III|III|III|III|

as

B I
0.006
. |30
0.004
. o5
0.002
! |20
.D |
I 15¢
_0.002
I 10
_0.004
I 50
_Dlﬂﬂs _l | | | | | | | | | | | | | | | | | | | | | | | I | _D

-0.006 -0.004 -0.002 O 0.002 0.004 0.008
asym_sam8g



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

run4d397 000 asym

asym_sam?2

72 | ndf

p0

p1

20.58 /24 "

—9.643e-08 = 7.894e-07 =

0.9996 = 0.0002 =

0.005

-0.005

-0.01

-0.015

—-0.02

asym_sam?2

—{].GE{].N 5-0.0+-0.005 0 0.005 0.010.0150.02 0.025

%2 [ ndf 36/ 24 Ly
3
p0  1.423e-05 + 8.795e—06 fﬁ
p1 0.7801£ 0.0025 -~
O
0.005 -
N o
-0.01F o
B H
B ol
0015
—III|_IIII|IIII|IIIIIIIIIIIIIIlIIII|IIII|IIII|IIII

0.006

0.004

0.002

-0.002

-0.004

-0.006

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.02-0.015-0.0+0.005 0 0.005 0.010.0150.02 0.025

m2

- %2 / ndf 34.1 /24
+++'|"’LH p0 6.593e-06 = 6.174e—-06
- +‘|‘+
+.|:._#
*#L pi -0.3276 £ 0.0017

asym_sam?2

-0.02-0.015-0.0+0.005 0 0.005 0.010.0150.02 0.025

[ - %2/ ndf 38.22/ 24
[ ]me p0  -4.602e-06 £ 3.127e—06
I T,

i p1 -0.2712 £ 0.0009
B Moy

_ t

i Ty
—I'II|IIII|IIII|IIIIIIIIIIIIIIlIIII|IIII|IIII|IIII

asym_sam4

%2/ ndf 32.85/ 41 W“HJF -
oy
p0  —1.226e-05 + 9.360e-06 e
_'J_+|-
p1 1.178 £ 0.002
0.005F
0
-0.005
-0.01 y
- +++*’+
-0.015F i
S
0028 - | | | | | | |
-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

asym_sam4

+2 | ndf 36.23 [ 41 i
p0  —8.169e—07 = 5.701e—07
o1 0.9994 + 0.0001 ]
U.U'UD_—
o
-0.005
-0.01F =
-0.015- -
:III_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
—0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0

0.006

0.004

0.002

-0.002

-0.004

-0.006 =

- sam2468 mutual

asym_sam4

+

H, hhh

asym_sam4

02-0.015-0.01-0.005 0 0.005 0.01 0015 0.02

- %2 { ndf 119.8 / 41
i P,

[ - - p0  1.397e-05+ 4.723e-08
- p1 ~0.4045 £ 0.0011
[ y

- +2 { ndf

| T4y, Flﬂ

i p1

79.53 /41

4.006e-07 £ 1.536e-06

-0.3423 £ 0.0004

“Eorrelation-

fit.

0.015

0.01

0.005

-0.005

-0.01

-0.015

asym_samé6

72 [ ndf

HF++++ PO

B
—_—

96.74 /48

2.428e-05 £ 1.423e-05

Pl —2.406 = 0.007

+++++++{} f

-0.02

_I-IlllIII|III|III|III|III|III|III|I

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

E

0.015

0.01

0.005

-0.005

-0.01

moé

%2 / ndf

——

T
—_

.'.
=

3
F

141.2 / 48

p0 2.83e-05 + 1.04e-05

p1 -1.99 £ 0.1

++++++
.|_H.
+H+¢

-0.015

—rllllIII|III|III|III|III|III|II_I|I

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

asym_samé6

12/ ndf 50.25 / 48 =

p0

pi

—6.793e-08 £ 2.341e-07 =

0.9995 = 0.0001

OO0

-0.002

-0.004

-0.006

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

asym_samo6

12/ ndf 112.6/ 48 J[ -
HJLJFH 1

p0  —1.022e-05 + 3.530e-06 A

p1 0.6965 + 0.0018

-0.002

-0.004

B +++#*++
-t
_ﬁ

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

png

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

m3

72 | ndf

49.69 / 46

p0  -1.203e-05 = 9.475e-06

pl

-3.375 £ 0.006

I
-0.006 -0.004 -0.002 O

_|_
F
&
o

+‘I

0.002 0.004 0.0086

ms3

2 | ndf

90.33 /46

pld  -2.897e-07 £ 4.375e-06

pl

—2.822 = 0.003

-0.006 -0.004 -0.002 O

asym_sa

0.002 0.004 0.0086

%2 { ndf 134.4 / 46
p0  1.184e—05 + 4 564e—06
o1 1.164 = 0.003
ok
_0.002|—
_0.004 o
: J[++++++
N W
_0.006/— i

-0.006 -0.004 -0.002 O

asym_sa

0.002 0.004 0.006

%2 [ ndf 40.96 / 46 )
p0  2.423e-07 + 1.897e-07 -
p1 0.9997 + 0.0001
0
-0.002—
-0.004 =
_D.ﬂﬂa_l'lvl|||||||III|III|III|II|||

-0.006 -0.004 -0.002 O

0.002 0.004 0.006




asym_sam?2

asym_sam4

asym_samé6

asym_sam3

rund4397 000 asym sam2468 ‘mu

as

0.02

0.015

0.01

0.005

-0.005

—-0.01

-0.015

-0.02

=
III|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|III

-0.02-0.015-0.0+0.005 0 0.005 0.01 0.015 0.02
asym_samz2

0.015

0.01

0.005

-0.005

—0.01

-0.015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

__DLGEIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

—-0.02-0.015-0.0+0.005 0 0.005 0.01 0.015 0.02
asym_samZ2

as

0.008 —
0.006
0.004

0.002

-0.002

-0.004

-0.006

=
III|III|III|III|III|III|III|III|

—D.ﬂﬂa III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

—-0.02-0.015-0.01+0.005 0 0.005 0.01 0.015 0.02
asym_samz2

as

0.006

0.004

0.002

-0.002

=
LI I I L N L I B I

-0.004

-0.006

as

0.02

0.015

0.01

0.005

0

-0.005

-0.01

-0.015

-0.02

-0.02 -0.015 -0.01 -0.005 0 0.005 001 0015 0.02

asym_samd

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0.015

0.01

0.005

-0.005

-0.01

-0.015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

_{]L_ng||||I||||I||||I||||I||||I||||I||||I|.||

02-0.015-001-0005 0 0005 001 0015 0.02

asym_samd

0.004

0.002

-0.002

-0.004

-0.006

_—
III|III|III|III|III|III|III|III|

_DlﬂﬂgIIII|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII

02 -0.015-0.01-0005 0 0.005 001 0015 0.02

asym_samd

0.004

0.002

-0.002

=
Y N B N B B B B

-0.004

-0.006

02 -0.015 -0.01 -0.005 {]l{].DDE Og1 0.015 0.02

tual corre

at

as

0.02

0.015

0.01

0.005

0

-0.005

-0.01

-0.015

-0.02

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

asym_samé

as

0.015
0.01

0.005

-0.005

-0.01

-0.015

—'D.. III|III|III|III|III|III|III|III|
—%Q.DGB—D.DGE—{].DG-#—D.DGE 0 0.002 0.004 0.006 0.008

asym_samé

as

0.008 —

0.006

0.004

0.002

-0.002

-0.004

-0.0086
-

..-'

_—
III|III|III|III|III|III|III|III|

_DLG%EIII|III|III|III|III|III|III|III|

.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

asym_samb6

as

0.006

0.004

0.002

-0.002

=
Y N B N B B B B

-0.004

-0.006

—0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008

on-scat.png

as

0.02

0.015

0.01

0.005

0

-0.005

-0.01

-0.015

-0.02

-0.006 -0.004 -0.002 O 0.002 0.004 0.006
asym_sam8g

as

0.015
0.01

0.005

-0.005

-0.01

-0.015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—'D..GE | 11 1 | 1 1 1 | 1 1 1 | 11 1 | 11 1 | 11 1 I ]
—0.006 -0.004 -0.002 0 0.002 0.004 0.006

asym_sam8

as

0.008 —

0.006

0.004

0.002

-0.002

-0.004

-0.006

_—
III|III|III|III|III|III|III|III|

—D.ﬂﬂa | 1 1 1 | | | 1 1 1 | L 1 1 | 1 1 1 | L 1 1 I 1
—0.006 -0.004 -0.002 0 0.002 0.004 0.006

asym_sam8g

as

0.006

] I 1T 1 | ]
-,

0.004

0.002

-0.002

=
Y N B N B B B B

-0.004

J.l-...

_Dlﬂﬂa |III|III|III|III|III|IIIII

-0.006 -0.004 -0.002 O 0.002 0.004 0.008
asym_sam8g




asym_saml

asym_samJ3

asym_samsS

asym_sam’7

run4d397 000 asym

- —l40¢ - -
).0015F ).0015F aog ).0015F o0
- —{35( - -
0.001 0.001 0.001 —35¢
- —30( N —2( -
).0005F- ).0005F- ).0005F- e
- - - 25(
0 0 0
E E E 20¢
).0005 1.0005 1.0005
- - - 15(
—-0.001 —0.001 —0.001
- - - 10€
- - - - n
).0015 ).0015F ).0015F - &0
— N B [ | B [ |
—’D.Dﬂ _IIIIIIIIIIIIIIlIIII|IIII|IIII|IIII|IIII _ﬂlﬂﬂg_llllI|IIII|IIII|IIII|IIII|IIII| _DLDGE_IllllllllIIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIII
—&nﬂgﬂ.nmm.nﬂm.nmﬁ 0 0.0005 0.0010.0015 0.002 ~0.03 -0.02 -0.01 0 0.01 002 0.03 —0.00.0019.000.0005 0 0.0005.000.0019.008.0025
asym_sami asym_sam3 asym_samb
as
0.03- —135¢ 0.03- 0.03-
- - —30¢ - —{35(
l B l B l B
| . —130( . - . -
0.02- 0.02- o 0.02- . _|z0¢
- - - n
B —25( B B
0.01 0.01 0.01 —25(
B B —20( B
B B B 20(
o o o
- - 15( -
B B B 15(
—0.01 —0.01 —0.01
- - 10( -
- - - 10€
_o0.02 _p.02 _p.02 .
B B 50( - = 50
_0.03 _0.03 _0.03
IIIIIIIIIIIIIIlIIII|IIII|IIII|IIII|IIII _|IIII|IIII|IIII|IIII|IIII|IIII| III|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
—0.002-0.0015-0.00+0.0005 0 0.0005 0.001 0.0015 0.002 —0.03 -0.02 -0.01 0 0.01 002 0.03 —0.00.0019.000.0005 0 0.0005.000.0019.008.0025
asym_sami asym_sam3 asym_samb
. a;. a;.
7.0025F — asc 2.0025F — 7.0025F —
- n —35( n —40(
0.002F .= 0.002F i 0.002F .
] - —40( ) - ) n a5
- - —30¢ - =
1.0015F 1.0015F 1.0015F
- N —35( - -
n n n —30(
0.001F 0.001F B 0.001F
: —L30¢ : 25t :
7.0005F 7.0005F 7.0005F 25(
- - 200 -
o oF 0 20(
).0005 - 7.0005 15 7.0005
- - - 15(
—0.001F ~0.001F 100 ~0.001F
- - - 10€
).0015 0 2.0015 2.0015
: . = . 50 - 50
-0.002F -0.002F - -0.002F
:IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII _|IIII|IIII|IIII|IIII|IIII|IIII| :III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
~0.002-0.0015-0.00+0.0005 0 0.0005 0.001 0.0015 0.002 003 -0.02 -0.01 0 0.01  0.02 0.03 —0.00.0019.000.0005 0 0.0005.000.0019.008.0025
asym_sami asym_sam3 asym_samb
s _ as as
| _z0¢ i | —35(
0.004 0.004 |1 0.004
I I I —30(
| —l25( | |
- - —10¢ -
0.002 0.002 0.002 _|og¢
i —20( i i
| | 800 |
- ol ol 20(
| u | |
| i I 15(
-0.002 -0.002 -0.002
! i i u 10
_0.004 _0.004 _0.004 u
i i i 50
R - [ | | |
_DLDGE_IlllllllllllllllIII|IIII|IIII|IIII|IIII _Dﬂﬂs_llllI|IIII|IIII|IIII|IIII|IIII| _DDGEIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

0
—0.002-0.0015-0.00+0.0 - DIEI"I 0.0015 0.002 0.03 -002 -0.01 0.0 o 0.02 0.03 g 0018).080.0005 0 0.00080.000.0019.008.0025
- sam mutual correlation-COLZ.png
[ ]

N p—

- —{30(
0.0015F

0.001 —{25(
0.0005 . oo
o— H

N 15(
).0005F

- 10(
~0.001F

- 50
0.0015F

- N
—'D.DGE_ I l l l | 11 | | l | l | l l l | 11 l I l 11

-0.006 -0.004 -0.002 0 0.002 0.004 0.0086 0
asym_sam7y

—12(
—10(
-0.03 |

—{].DIEI'E —{].ﬂﬂd —{].D[}E {] {].GIEI'E {].Dﬂd {]DIEI'E 0
asym_sam7

e N

0.03

0.01

-0.01

-0.02

=
IIIII|IIII|IIII|IIII|IIII|IIII|

|-
2.0025F —
- —35(
— H B
0.002F
- —130¢
7.0015F
0.001F —25¢
7.0005F
- 20(
0
7.0005F 150
—0.001 10¢
2.0015
n 50
-0.002 0 =
[ I 1 1 1 | 11 1 | 1 1 1 | 1 1 1 | 11 1 I 1 11 ,D
-0.006 -0.004 -0.002 0 0.002 0.004 0.006
asym_sam7y
Ellﬂlﬁ i — —{30¢
0.004—
n —25(
0.002—
i —20(
.D -
n 15(
-0.002—
u 10
-0.004 —
= 50C
_DLDGE _I 1 1 1 | 11 1 | 1 1 1 | 1 1 1 | 11 1 I 1 11

-0.006 -0.004 -0.002 0 0.002 0.004 0.008 0
asym_sam7y



asym_saml

asym_samJ3

asym_samsS

asym_sam’7

asym_saml

%2 | ndf 27.43 /39 E
p0  3.484e—08 + 5.587e—08 ___—"::
p1 0.9993 + 0.0002 -
of
].D{}DEf—
~0.001 E— ____-‘:
.001 53— _*'::
TN T R T
~0.002-0.0015-0.00+0.0005 0 0.0005 0.001 0.0015 0.002

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

asym_saml

| 2 ndf
| s

+ p'[

37.63/39

—4.489e-06 = 3.679e-05

-5.783 £ 0.099

*}H#m # r“

|

—0.002-0.0015-0.00+0.0005 0 0.0005 0.001 0.0015 0.002

0.002

J.0015

0.001

J.0005

1.0005

—0.001

1.0015

-0.

asym_saml

asym_saml

38.99 /39

— = [ ndf

— p0  1.672e—06+ 1.884e—06
— ‘o o1 _0.8457 + 0.0051
B FH

N 4

- #HHJ[”?

- .

'l' L1 11 | L1111 | L1 11 | L1 11 I L 111 | L1 11 I L1 11 | L 111
002-0.0015-0.00+-0.0005 0 0.0005 0.001 0.0015 0.002

2 | ndf 36.04 / 39

p0  1.767e—08 + 7.663e—06

o1 1.054 £ 0.021

ﬂ.nm;— #H{w ll

o |

—ﬂ.nm;— - dh}[ HMJF
{J.ﬂﬂEf— H {
~Dﬂﬂ3-_|—....|....|....|....I....I....I....I.u.

rund397 000 asym saml357

001 0.0015 0.002

mutua

:
BN | g
I\E

mJ3

%2 | ndif 25.34 / 30
p0  —4.672e-06 + 2.087c—06
0.001
R o1 ~0.01596 £ 0.00037
7.0005 h J[
|1,
L] 1[ + H#+++++
o I
i M H]Jr:ﬁ
7.0005 {
_|||||||||||||||I||||||||||||||||
~0.03 -0.02 -0.01 p.01 002 003
asym_sam3
%2/ ndf 31.01/30 -
p0  —5.436e—07 + 9.877e—07
o1 0.9998 + 0.0002 Ea
ol
—0.01F .
—0.02 &
|||||||||||||||I||||||||||||||||
~0.03 -0.02 -0.01 p.01 002 003

asym_sa

12 / ndf 28.13/30 l:
p0  5.205e-06 * 2.308e—06
il
p1 0.03753 £ 0.00041 Y
4
- 4"J-++
oF
0005 | [F e
-
-0.001F J[
2.0015F
_|||_|||||||||||||||||||||||||||||
003 -002 -0.01 001 002 0.03
asgmLsamS
| ]
L+ %2/ ndf 27.83/30
- ot
0.004| P
I p0  -9.626e-07 = 1.325e-06
0.002 - p1 ~0.2037 £ 0.0002
.D_
~0.002}- .
-0.004 | T
u b,
n ++Jr

l{] 03

0.02 -0.01

correl

0.01

ation-fit.p

o002  0.03

0.001

J.0005

J.0005

—0.001

J.0015

p0

pl

ms

72 | ndf

59.65 / 40

p0  -1.93%e-06 = 1.487e-06

pl

-0.5145 = 0.0030

g

.|..,r|.

t #ﬂﬂ

4

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

4ASVIIl_Sa

2 | ndf

34.47 /40

—3.397e-05 = 3.205e-05

855 0.06

-0.005
—-0.01
-0.015

-0.02

p0

pi

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

asym_sa

2 | ndf

36.86 / 40

—7.994e-08 = 6.902e-08

0.9993 £ 0.0001

J.0005

J.0005

—0.001

J.0015

-0.002

7
E

0.004

0.003

0.002

0.0

0

—0.001

-0.002

-0.003

-0.004

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

ms

2 { ndf

pi

38.95/40

po 7.395e-06 £ 6.43%e-06

-1.867 £ 0.013

1

)

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

ng

asym_sa

72 [ ndf 53.98 / 49
p0  —5.542e-06+ 1.915e—06 -
o1 0.06635 + 0.00125 Jr# JM
0
—02F 1 } { -
- H#H +
~0.4F }
!
0.6 {
—0.8
I_ | | | 1 | | | | I | | | | 1 | | | 1 | | | | 1 | |
—0.006 -0.004 —0.002 0 0002 0.004 0.006
B 2 | ndf 2213/ 49
- 11'++t
0.02— s p0  —1.783e-06 = 5.986e—06
§ 1 _4.821+ 0.
001k D 4821+ 0.004
o
_0.01
_0.02 T
n .
I_ | | | | | | | | I | | | | | | | | | | | | | | _I |
—0.006 -0.004 —0.002 0 0002 0.004 0.006
asgmLsamj
| | ]
7.0015— j{ 2 [ ndf 42.92 / 49
- p0  5.431e—06 + 2.03%e—06
0.001— ]l
- ]LﬂH p1 _0.1874 + 0.0013
| .I. -|j'+
- ;
7.0005 —
ok
7.0005— -
- -
_0.001— {
I_ | | | 1 | | | | I | | | | 1 | | | 1 | | | | 1 | |
_0.006 -0.004 —0.002 0  0.002 0.004 0.006
asgmLsanﬂ
w2/ ndf 59.76 / 49 =
pd  —1.399e—07 + 1.788e—07 Ea
o1 0.9995 + 0.0001
.D |
~0.002—
-0.004 .
—D.DGE | - | _I | 1 | | | | I | | | | 1 | | | 1 | | | | 1 | |
_0.006 -0.004 —0.002 0  0.002 0.004 0.006




asym_sam

asym_sam

asym_sam

asym_sam

run4d397 000 asym

as

J.0015
0.001

J.0005

1.0005
—0.001

1.0015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—’D.Dﬂ IIIIIIIIIIIIIIlIIII|IIII|IIII|IIII|IIII
—{EDGE{].DWE—{].G{H—D.DGDE 0 0.0005 0.0010.0015 0.002

e N

0.03

0.01

-0.01—

-0.02—

-0.03—

asym_sami

—0.002-0.0015-0.004+-0.0005 0 0.0005 0.001 0.0015 0.002

J.0015

0.001

2.0005

0

1.0005

—0.001

1.0015

-0.002

asym_sami

—0.002-0.0015-0.00%+-0.0005 0 0.0005 0.001 0.0015 0.002

as

0.004—

0.002—

-0.002 —

-0.004 —

-0.006 —

asym_sami

sam1357

001 0.0015 0.002

mutual

as

J.0015
0.001

J.0005

J.0005

-0.001

J.0015

-0.002

=
=
L3

e N

0.03

0.01—

-0.01—

-0.02—

—-0.02

_ﬂ'n3_|||||||||||

-0.01

0.02  0.03
asym_sam3

-0.03

J.0015

0.001

J.0005

0

J.0005

-0.001

J.0015

-0.002

—-0.02

[
—0.01

0.02 0.03
asym_sam3

1
-0.03

as

0.004—

0.002—

-0.002—
-0.004 —

-0.006—

1
-0.02

[
—0.01

0.01

0.02  0.03
asym_sam3

{'_HJB

{]DE

{]CH

corre

lat

.{]DE

10Nn-scat.

0.03

as

J.0015

0.0

J.0005

J.0005

-0.001

J.0015

-0.002

e N

0.03

0.01

-0.01

-0.02

-0.03

J.0015

0.0

J.0005

0

J.0005

-0.001

J.0015

-0.002

as

0.004

0.002

-0.002

-0.004

-0.006

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

asym_samb

_III|IIIIIIIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIIII
—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025
asym_sam5b
]

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

asym_samb

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

asym_samb

png

as

J.0015
0.001

J.0005

J.0005
—0.001

J.0015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.002

—0.006

e N

0.03

0.01—

-0.01—

-0.02—

—-0.03

—0.004

—-0.002

0

0.002

0.004

0.006

asym_sam7y

—0.006

J.0015

0.001

J.0005

0

J.0005

-0.001

J.0015

-0.002

—0.004

—-0.002

0

0.002

0.004

0.006

asym_sam7

—0.006

as

0.004—

0.002—

-0.002—
-0.004 —

-0.006—

—-0.004

—-0.002

0

0.002

0.004

0.006

asym_sam7y

—0.006

—-0.004

—-0.002

0

0.002

0.004

0.006

asym_sam7y



